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QUESTION 1

You have just installed a new AFF A220 4-node cluster with ONTAP 9.5 for a customer. Which two cluster switches are

supported in this scenario? (Choose two.)
A. Cisco Nexus 5596UP

B. Brocade 6510

C. Cisco MDS 91485

D. NetApp CN1610

Correct Answer: AD

QUESTION 2

cluster::> system node autosupport history show -node nodel

Seq Attempt
Node Num Destination Status Count
nodel 1

smtp re-queued 13

http ignored 15

https failed 15

You configured AutoSupport and are trying to send a full AutoSupport message to NetApp. You use the
autosupport history show command and see the output shown in the exhibit. The customer confirms that
the AutoSupport settings are correct.

Which two actions will solve this issue? (Choose two.)

A. The customer needs to enable AutoSupport for both nodes.

B. The customer needs to exclude the two nodes from the attachment-size limitation.

C. The customer needs to change the transport protocol to HTTP.

D. The customer needs to white-list the two nodes on their mail server.

Correct Answer: AC

QUESTION 3
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Which LIF type is used by default for hardware-assisted storage failover communication?
A. intercluster

B. node-mgmt

C. data

D. cluster-mgmt

Correct Answer: B

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-cmpr-950%
2Fstorage__failover__hwassist__show.html

QUESTION 4

A customer wants to reduce the disk allocation requirement for the root aggregate and increase usable storage by
partitioning the disks into one large part and one small part. The small part is used for the root aggregate and the large
part for the data aggregates.

In this situation, what is this feature called?

A. ONTAP

B. storage virtual machine

C. Advanced Drive Partitioning

D. RAID

Correct Answer: C

QUESTION 5

You finished an ONTAP 9.5 installation using the information provided by the customer, but the NFS exports and CIFS
shares cannot be accessed using the newly created data LIFs.

In this situation, which action should you perform before you leave the customer\\'s site?

A. Advise the customer to but Cisco switches because NetApp supports only Cisco switches for CIFS and NFS.
B. Review the ONTAP network configuration with the customer and make sure that it is correct.

C. Connect to the customer\\'s switch infrastructure and reset the port configurations.

D. Advise the customer to solve the issue on their own, this is not part of a basic installation.

Correct Answer: B
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